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(1)
NRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqj

gk;j lsds.Mªh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mªh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mªh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mªh lfVZfQdsV ijh{kk o"kZ 2008&09
ekWMy iz’u i= ekWMy iz’u i= ekWMy iz’u i= ekWMy iz’u i=     (Model Question Paper)

d{kk%&d{kk%&d{kk%&d{kk%&   12oha   12oha   12oha   12oha Class 12th

fo"k;%&  i;kZoj.kfo"k;%&  i;kZoj.kfo"k;%&  i;kZoj.kfo"k;%&  i;kZoj.k Subject:- Environment
le;%&  3 ?k.Vsle;%&  3 ?k.Vsle;%&  3 ?k.Vsle;%&  3 ?k.Vs Time:- 3 Hours
iw.kkZd%& 75iw.kkZd%& 75iw.kkZd%& 75iw.kkZd%& 75 Maximum Marks :-  75

funsZ’k&¼v½funsZ’k&¼v½funsZ’k&¼v½funsZ’k&¼v½ iz’u Øekad 1 ls 6 rd vfr y?kqmRrjh; iz’u gS A izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 6 rd vfr y?kqmRrjh; iz’u gS A izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 6 rd vfr y?kqmRrjh; iz’u gS A izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 6 rd vfr y?kqmRrjh; iz’u gS A izR;sd iz’u ij 2 vad
fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 30 ’kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 30 ’kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 30 ’kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 30 ’kCn½
Question No. 1 to 6  are very  Short  answer  type question. Each carries 2
marks (Limitation of answer 30 words)

iz’u 1iz’u 1iz’u 1iz’u 1 &&&& foyqIr iztkfr;ka fdls dgrs gS \foyqIr iztkfr;ka fdls dgrs gS \foyqIr iztkfr;ka fdls dgrs gS \foyqIr iztkfr;ka fdls dgrs gS \
What are extinct Species ?

iz’u 2iz’u 2iz’u 2iz’u 2 &&&& i`Foh ij yxHkx fdruh tSo iztkfr;ka miyC/k gS \i`Foh ij yxHkx fdruh tSo iztkfr;ka miyC/k gS \i`Foh ij yxHkx fdruh tSo iztkfr;ka miyC/k gS \i`Foh ij yxHkx fdruh tSo iztkfr;ka miyC/k gS \
How many living species are Present in the world ?

iz’u 3iz’u 3iz’u 3iz’u 3 &&&& d`fre iztuu dk D;k rkRi;Z gS \d`fre iztuu dk D;k rkRi;Z gS \d`fre iztuu dk D;k rkRi;Z gS \d`fre iztuu dk D;k rkRi;Z gS \
What is artificial Insemination ?

iz’u 4iz’u 4iz’u 4iz’u 4 &&&& rjy gkbMªkstu mPp dksfV dk bZa/ku D;ksa gS \rjy gkbMªkstu mPp dksfV dk bZa/ku D;ksa gS \rjy gkbMªkstu mPp dksfV dk bZa/ku D;ksa gS \rjy gkbMªkstu mPp dksfV dk bZa/ku D;ksa gS \
Why is heavy water a high quality fuel ? .

iz’u 5iz’u 5iz’u 5iz’u 5 &&&& [kjirokj uk’kh D;k gS \[kjirokj uk’kh D;k gS \[kjirokj uk’kh D;k gS \[kjirokj uk’kh D;k gS \
What is weedicide ?

iz’u 6iz’u 6iz’u 6iz’u 6 &&&& pwgksa ls vukt dks D;k {kfr igqaprh gS \pwgksa ls vukt dks D;k {kfr igqaprh gS \pwgksa ls vukt dks D;k {kfr igqaprh gS \pwgksa ls vukt dks D;k {kfr igqaprh gS \
What are the losses or damage caused by rodents. ?

funsZ’k&¼c½funsZ’k&¼c½funsZ’k&¼c½funsZ’k&¼c½ iz’u Øekad 7 ls 12 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 3 vadiz’u Øekad 7 ls 12 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 3 vadiz’u Øekad 7 ls 12 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 3 vadiz’u Øekad 7 ls 12 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 3 vad
fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 50 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 50 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 50 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 50 'kCn½
Question No. 7 to 12 are short answer type question. Each carries 3 marks.
(Maximum limit of answer 50 words)

iz’u 7iz’u 7iz’u 7iz’u 7 &&&& ekuo ds vfLrRo gsrq tSo&fofo/krk vko’;d gS] D;ksa \ekuo ds vfLrRo gsrq tSo&fofo/krk vko’;d gS] D;ksa \ekuo ds vfLrRo gsrq tSo&fofo/krk vko’;d gS] D;ksa \ekuo ds vfLrRo gsrq tSo&fofo/krk vko’;d gS] D;ksa \
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Biodiversity is important for existence of mankind, why ?

iz’u 8iz’u 8iz’u 8iz’u 8 &&&& jk"Vªh; m|ku ij laf{kIr fVIiM+h fyf[k, Ajk"Vªh; m|ku ij laf{kIr fVIiM+h fyf[k, Ajk"Vªh; m|ku ij laf{kIr fVIiM+h fyf[k, Ajk"Vªh; m|ku ij laf{kIr fVIiM+h fyf[k, A
Write short notes on National park.

iz’u 9iz’u 9iz’u 9iz’u 9 &&&& ok;q iznq"k.k fu;a=.k ds mik; le>kb, Aok;q iznq"k.k fu;a=.k ds mik; le>kb, Aok;q iznq"k.k fu;a=.k ds mik; le>kb, Aok;q iznq"k.k fu;a=.k ds mik; le>kb, A
Explain the methods to control “air pollution”.

iz’u 10iz’u 10iz’u 10iz’u 10 &&&& ^^Xykscy okfeZx lrr fodkl esa ck/kd gS**] rdZ nhft, A^^Xykscy okfeZx lrr fodkl esa ck/kd gS**] rdZ nhft, A^^Xykscy okfeZx lrr fodkl esa ck/kd gS**] rdZ nhft, A^^Xykscy okfeZx lrr fodkl esa ck/kd gS**] rdZ nhft, A
“Global warming is the hindrance for the sustainable development”
Justify it.

iz’u 11iz’u 11iz’u 11iz’u 11 &&&& Lo;alsoh laLFkk vkSj xSj ljdkjh laxBu ¼Lo;alsoh laLFkk vkSj xSj ljdkjh laxBu ¼Lo;alsoh laLFkk vkSj xSj ljdkjh laxBu ¼Lo;alsoh laLFkk vkSj xSj ljdkjh laxBu ¼NGO½ esa D;k varj gS \½ esa D;k varj gS \½ esa D;k varj gS \½ esa D;k varj gS \
What is differences between volunatry organisation and Non-governmen-
tal organisation (NGO)

iz’u 12iz’u 12iz’u 12iz’u 12 &&&& lefUor ihM+d izca/ku ¼vkbZ-ih-,e-½ D;k gS \ le>kb, AlefUor ihM+d izca/ku ¼vkbZ-ih-,e-½ D;k gS \ le>kb, AlefUor ihM+d izca/ku ¼vkbZ-ih-,e-½ D;k gS \ le>kb, AlefUor ihM+d izca/ku ¼vkbZ-ih-,e-½ D;k gS \ le>kb, A
What is the integrated pest management (I.P.M.) ? Explain.

vFkok vFkok vFkok vFkok (OR)

vukt Hk.Mkj.k ¼laxzg.k½ essa D;k&D;k lko/kkfu;ka j[krs gS \vukt Hk.Mkj.k ¼laxzg.k½ essa D;k&D;k lko/kkfu;ka j[krs gS \vukt Hk.Mkj.k ¼laxzg.k½ essa D;k&D;k lko/kkfu;ka j[krs gS \vukt Hk.Mkj.k ¼laxzg.k½ essa D;k&D;k lko/kkfu;ka j[krs gS \
What precautions are taken at a time of storage of food grain ?

funsZ’k&¼l½funsZ’k&¼l½funsZ’k&¼l½funsZ’k&¼l½ iz’u Øekad 13 ls 17 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 4 vadiz’u Øekad 13 ls 17 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 4 vadiz’u Øekad 13 ls 17 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 4 vadiz’u Øekad 13 ls 17 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 4 vad
fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 75 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 75 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 75 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 75 'kCn½
Question No. 13  to 17 are short answer type question. Each carries 4
marks. (Maximum limit of answer 75 words)

iz’u 13iz’u 13iz’u 13iz’u 13 &&&& fuEu ij laf{kIr fVIi.kh fyf[k, AfuEu ij laf{kIr fVIi.kh fyf[k, AfuEu ij laf{kIr fVIi.kh fyf[k, AfuEu ij laf{kIr fVIi.kh fyf[k, A
¼1½¼1½¼1½¼1½ ladVxzLr tkfr;kWaladVxzLr tkfr;kWaladVxzLr tkfr;kWaladVxzLr tkfr;kWa ¼2 ½¼2 ½¼2 ½¼2½ foyqIr tkfr;kW afoyqIr tkfr;kW afoyqIr tkfr;kW afoyqIr tkfr;kW a
Write short notes on following.
(1) Endangered species (2) Extinct species

iz’u 14iz’u 14iz’u 14iz’u 14 &&&& ^^Hkkjr o"kZ ,d fofo/k foiqyrk okyk jk"Vª gS A** bl dFku dks foLr`r^^Hkkjr o"kZ ,d fofo/k foiqyrk okyk jk"Vª gS A** bl dFku dks foLr`r^^Hkkjr o"kZ ,d fofo/k foiqyrk okyk jk"Vª gS A** bl dFku dks foLr`r^^Hkkjr o"kZ ,d fofo/k foiqyrk okyk jk"Vª gS A** bl dFku dks foLr`r
o.kZu dhft, Ao.kZu dhft, Ao.kZu dhft, Ao.kZu dhft, A
“India is a mega diversity nation", Explain in details.
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iz’u 15iz’u 15iz’u 15iz’u 15 &&&& lrr~ fodkl gsrq O;fDr vkSj leqnk; dh Hkwfedk dk foospuk dhft, Alrr~ fodkl gsrq O;fDr vkSj leqnk; dh Hkwfedk dk foospuk dhft, Alrr~ fodkl gsrq O;fDr vkSj leqnk; dh Hkwfedk dk foospuk dhft, Alrr~ fodkl gsrq O;fDr vkSj leqnk; dh Hkwfedk dk foospuk dhft, A
Discuss about the role of an individual and community for sustainable
development.

iz’u 16iz’u 16iz’u 16iz’u 16 &&&& gfjrdzkafr ds i;kZoj.k ij gq, izHkkoksa dh foospuk dhft, Agfjrdzkafr ds i;kZoj.k ij gq, izHkkoksa dh foospuk dhft, Agfjrdzkafr ds i;kZoj.k ij gq, izHkkoksa dh foospuk dhft, Agfjrdzkafr ds i;kZoj.k ij gq, izHkkoksa dh foospuk dhft, A
What are the main effects of green revolution on environment ? Explain.

vFkok vFkok vFkok vFkok (OR)

[kkn ,oa moZjd esa D;k lekurk,Wa o vlekurk,Wa gS \[kkn ,oa moZjd esa D;k lekurk,Wa o vlekurk,Wa gS \[kkn ,oa moZjd esa D;k lekurk,Wa o vlekurk,Wa gS \[kkn ,oa moZjd esa D;k lekurk,Wa o vlekurk,Wa gS \
What are the main similarities and dissimilarities between manure and
fertilizer ?

iz’u 17iz’u 17iz’u 17iz’u 17 &&&& QlyksRiknu ds fy, e`nk ds egRo ij izdk’k Mkfy, A [kkn ,oa moZjdksaQlyksRiknu ds fy, e`nk ds egRo ij izdk’k Mkfy, A [kkn ,oa moZjdksaQlyksRiknu ds fy, e`nk ds egRo ij izdk’k Mkfy, A [kkn ,oa moZjdksaQlyksRiknu ds fy, e`nk ds egRo ij izdk’k Mkfy, A [kkn ,oa moZjdksa
dk mi;ksx D;ksa vko’;d gS \dk mi;ksx D;ksa vko’;d gS \dk mi;ksx D;ksa vko’;d gS \dk mi;ksx D;ksa vko’;d gS \
Explain the importance of soil for crop production. Why the use of
manure and fertilizer is necessary for plants.

vFkok vFkok vFkok vFkok (OR)

e`nk vo;oksa ls vki D;k le>rs gSa \ e`nk] Qlyksa ds fy, D;k vko’;de`nk vo;oksa ls vki D;k le>rs gSa \ e`nk] Qlyksa ds fy, D;k vko’;de`nk vo;oksa ls vki D;k le>rs gSa \ e`nk] Qlyksa ds fy, D;k vko’;de`nk vo;oksa ls vki D;k le>rs gSa \ e`nk] Qlyksa ds fy, D;k vko’;d
n’kk,Wa iznku djrh gS An’kk,Wa iznku djrh gS An’kk,Wa iznku djrh gS An’kk,Wa iznku djrh gS A
What do you mean by soil components ? What is the importance of soil
for plants ?

funsZ’k&¼n½funsZ’k&¼n½funsZ’k&¼n½funsZ’k&¼n½ iz’u Øekad 18 ls 22 rd nh?kZ mRrjh; iz’u gS A izR;sd iz’u ij 5 vadiz’u Øekad 18 ls 22 rd nh?kZ mRrjh; iz’u gS A izR;sd iz’u ij 5 vadiz’u Øekad 18 ls 22 rd nh?kZ mRrjh; iz’u gS A izR;sd iz’u ij 5 vadiz’u Øekad 18 ls 22 rd nh?kZ mRrjh; iz’u gS A izR;sd iz’u ij 5 vad
fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 150 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 150 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 150 'kCn½fu/kkZfjr gS A ¼mRrj dh vf/kdre ’kCn lhek 150 'kCn½
Question No. 18  to 22 are long answer type question. Each carries 5 marks.
(Maximum limit of answer 150 words)

iz’u 18iz’u 18iz’u 18iz’u 18 &&&& lalk/ku D;k gS \ viuh mi;ksfxrkvksa ds dkj.k lalk/ku dks fdrus oxksZ esalalk/ku D;k gS \ viuh mi;ksfxrkvksa ds dkj.k lalk/ku dks fdrus oxksZ esalalk/ku D;k gS \ viuh mi;ksfxrkvksa ds dkj.k lalk/ku dks fdrus oxksZ esalalk/ku D;k gS \ viuh mi;ksfxrkvksa ds dkj.k lalk/ku dks fdrus oxksZ esa
ckaVk x;k gS \ izR;sd dk o.kZu dhft, AckaVk x;k gS \ izR;sd dk o.kZu dhft, AckaVk x;k gS \ izR;sd dk o.kZu dhft, AckaVk x;k gS \ izR;sd dk o.kZu dhft, A
What is natural resources ? Classity the natural resources on the basis of
utilization. Explain each one in brief.

iz’u 19iz’u 19iz’u 19iz’u 19 &&&& ty iznw"k.k ds izeq[k izHkkoksa dks fyf[k, A ty iznw"k.k fu;a=.k ds D;kty iznw"k.k ds izeq[k izHkkoksa dks fyf[k, A ty iznw"k.k fu;a=.k ds D;kty iznw"k.k ds izeq[k izHkkoksa dks fyf[k, A ty iznw"k.k fu;a=.k ds D;kty iznw"k.k ds izeq[k izHkkoksa dks fyf[k, A ty iznw"k.k fu;a=.k ds D;k
mik; gS \mik; gS \mik; gS \mik; gS \
Explain main effects of water pollution. What are the methods of its
control ?
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iz’u 20iz’u 20iz’u 20iz’u 20 &&&& vkfFkZd uhfr ls D;k rkRi;Z gS \ vkfFkZd uhfr ds mn~ns’;ksa dk o.kZuvkfFkZd uhfr ls D;k rkRi;Z gS \ vkfFkZd uhfr ds mn~ns’;ksa dk o.kZuvkfFkZd uhfr ls D;k rkRi;Z gS \ vkfFkZd uhfr ds mn~ns’;ksa dk o.kZuvkfFkZd uhfr ls D;k rkRi;Z gS \ vkfFkZd uhfr ds mn~ns’;ksa dk o.kZu
dhft, Adhft, Adhft, Adhft, A
What is the economic policy ? Explain the objectives of economic policy.

vFkok vFkok vFkok vFkok (OR)

jk"Vªh; Lrj ij Hkkjr essa i;kZoj.k lwpuk iz.kkyh usVodZ dk;e fd;k gS Ajk"Vªh; Lrj ij Hkkjr essa i;kZoj.k lwpuk iz.kkyh usVodZ dk;e fd;k gS Ajk"Vªh; Lrj ij Hkkjr essa i;kZoj.k lwpuk iz.kkyh usVodZ dk;e fd;k gS Ajk"Vªh; Lrj ij Hkkjr essa i;kZoj.k lwpuk iz.kkyh usVodZ dk;e fd;k gS A
bldk mn~ns’; D;k gS \bldk mn~ns’; D;k gS \bldk mn~ns’; D;k gS \bldk mn~ns’; D;k gS \
Indian Environmental programme network at national level is establised
in India. What ate its objectives ?

iz’u 21iz’u 21iz’u 21iz’u 21 &&&& lr~r fodkl ,oa Hkfo"; dh laHkkoukvksa dh foospuk dhft, Alr~r fodkl ,oa Hkfo"; dh laHkkoukvksa dh foospuk dhft, Alr~r fodkl ,oa Hkfo"; dh laHkkoukvksa dh foospuk dhft, Alr~r fodkl ,oa Hkfo"; dh laHkkoukvksa dh foospuk dhft, A
Describe the sustainable development and future possibilities.

vFkok vFkok vFkok vFkok (OR)

fo’o ds izeq[k vkS|ksfxd ns’kksa dh lr~r fodkl ds fy, Hkwfedk dh leh{kkfo’o ds izeq[k vkS|ksfxd ns’kksa dh lr~r fodkl ds fy, Hkwfedk dh leh{kkfo’o ds izeq[k vkS|ksfxd ns’kksa dh lr~r fodkl ds fy, Hkwfedk dh leh{kkfo’o ds izeq[k vkS|ksfxd ns’kksa dh lr~r fodkl ds fy, Hkwfedk dh leh{kk
dhft, Adhft, Adhft, Adhft, A
Compare the role of main Industrial countries of the world in the field of
sustainable devlopment.

iz’u 22iz’u 22iz’u 22iz’u 22 &&&& d`f"k jlk;uksa dh i;kZoj.k ij izHkko dh foospuk dhft, Ad`f"k jlk;uksa dh i;kZoj.k ij izHkko dh foospuk dhft, Ad`f"k jlk;uksa dh i;kZoj.k ij izHkko dh foospuk dhft, Ad`f"k jlk;uksa dh i;kZoj.k ij izHkko dh foospuk dhft, A
Explain the effects of Agrochemicals on environment.

vFkok vFkok vFkok vFkok (OR)

tSo moZjdksa dk mi;ksx djds dSls mRikn c<+k ldrs gS \ o.kZu dhft, AtSo moZjdksa dk mi;ksx djds dSls mRikn c<+k ldrs gS \ o.kZu dhft, AtSo moZjdksa dk mi;ksx djds dSls mRikn c<+k ldrs gS \ o.kZu dhft, AtSo moZjdksa dk mi;ksx djds dSls mRikn c<+k ldrs gS \ o.kZu dhft, A
How the use of biofertilizer can increase crop production ? Explain it.

----------X----------


